201448548

ROUND: 3 TABLE: 17 DATE: 12-27-2014
33iFYlIEaLL VS 34DIT{RFRER
F = A =
sl =] [F){RRER [F)iT{RRER sl =]l
b : SKEAE IR &R 1t : 72N IR : XBERE
M BEE 78 m  RZ g : 5KE
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 | WE| N |4H | +1 | 450 | w |5CX| = | -550 | 14
2 it | E | 2C | = -90 E | 2C | -1 50 4
3 | &M@ | s |5CX| 3 |-500| W | 4H | +1 | -650 | 4
4 | WB| E |3NT| +2 | 660 | E | 5C | = | -600 2
5 Bdt | E |3NT| = | -400| W |3NT| +1 | -430 1
6 | KM | S |3 | +2| 150 | S | 3C | +2 | 150
7 WHE | E |[2NT| +1 | -150| N | 3S | -1 | -100 2
8 Wk | S |[4SX| -1 |-100| S | 4S | -1 | -50 2
DATUM&iit e
] [E=] N [AI{RRER #1 [19.00{10.00
SKE/BREE  -7.0| BN/MiRz  -26| @it [19.00/10.00
MEERR/KE  26.0) FER\EEMHHE 7.0( V.P. [13.45 6.55




20148¥

ROUND: 3 TABLE: 18 DATE: 12-27-2014
35ZMHPA VS 36FKHIPA
H = Al =
EZ N HRKHRBA HRZKHBA Z1EA
it : BIXE IR IR b A 77 e R Fif
S XU/NER 7Y : =R A =R 7Y : EBENS
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 | Wk | w |4D| = |-130| N | 3H | +2 | 200 8
2 it | S | 3S| -2 | -200| N | 2H | -2 | -200
3 K| W |44 | +1 | -650| E | BH | = | -650
4 | W | w |3NT| +2 | 660 | E | 4S | -1 | 100 13
5 Bgdt | E |3NT| = | -400| E |3NT| = | -400
6 | HFm| s |4c|+2 | 170 | s | 5C | = | 400 6
7 W | W |5D| 2| 200 | S |3H| -1 | -100
8 | Wk | s |2s|+1|140| S | 4Ss| -1 | -50 5
DATUM&tit e
22 (9N FRRHRA v -] 12.00(27.00
BRE/XIMK -10|  BME/ZRR - 6.0 &it [12.00/27.00
Fi/EfORE  -6.0| #@E/Z=A 100 V.P. 4.77 |15.23




20148%%
ROUND: 3 TABLE: 19 DATE: 12-27-2014
1 : VS 38BIERA
7 = A =
HrhENHE RSTETIN TEHEERA HrhENHE
it - =%k K @SBt b : *BEEAR IR K
B 1 RN 79 : 5k M : PREEl 7 254t
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 WE| N |4H | = | 420 | N [ 3H | = | 140 7
2 it | E | 2H 100 | E |2H | -1 50 2
3 A | S |5CX| -3 | -500| N |4CX| -1 | -100 9
4 WE | W |3NT| +1 | -630 | E |3NT| +2 | -660 1
5 Bdt | E |3NT| = | -400| E |3NT| = | -400
6 KA | S | 3C | +2 | 150 | S | 5C | +1 | 420 7
7 WH | E BNTX -1 | 200 | N | 3H | -1 | -100 7
8 Wk | S | 25| +1 | 140| S | 25 | +1 | 140
DATUM# it iR
T hERMIHE EERA A1 |17.00|16.00
FENIERX,  13.0) ABEE/FFFEE] 15.00 &t [17.00{16.00
SOk 15| SRk -13 V.P 10.44| 9.56




20148¥

ROUND: 3 TABLE: 20 DATE: 12-27-2014
39FKFERA VS A0ERX AT
7 = A =
RASEBA BRRAR BRRAR RASEBA
it . &FE IR . REHE Jt : PRZE%E = S
KRR 7o : I5RRE m : #ER 78« M) 1|EF
AR | BR | ER| w0 | 28 mie | Bx | w2 | 2R | ms| D | =R
1 Wk | E | 5| = |-400| W |5DX| = |-550| 4
2 it | E |2Cc | +2 | -130| S | 3S | -1 | -100 1
3 | %@ | E |5H| = | 650| E | 4H | +1 | -650
4 | WBE | W |3NT| +2 | 660 | W |[3NT| = | -600 2
5 Bgdt | W |3NT| +1 | -430 | E |3NT| = | -400
6 |&Z&m| s |5Cc| = |400| S |5C| = | 400
7 WE | E |2NT| +1 | -150| E | 3D | = | -110 1
8 Wk | S |3S| = | 140 S | 25 | +1 | 140
DATUM# it iR
RKIERA ERR AR Z: 5 ] 4.00 | 5.00
BEE/AKEE  -19| MHEE/ERER -18| &it 4.00 | 5.00
SpIFZ/AR)1|1EF  18.0| MEBR/ESEE 19.0  V.P. 9.56 |10.44




20148¥

ROUND: 3 TABLE: 21 DATE: 12-27-2014
A1 IHEH VS 425k 22
7 = A =
IMNEE i~k z2 kg2 IMNEE
| S = R BEHER it Fx R @ 5KIBH
[EZRR CIfEE) 79 FEHK [EZRE CIAVEE:S 79 . Rk
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 Wk | W |3 | +2|-150| N | 4H | -1 | -50 3
2 gdt | E |[2NT| -1 50 E |2H | = | -110 4
3 s | W | 5H | +1 | -680| E | 4H | +1 | -650 1
4 | WBE | W |3NT| +2 | -660 | W |[3NT| -1 | 100 13
5 Bgdt | W |3NT| +2 | -460 | E |3NT| +1 | -430 1
6 ZKFE | S |5CX| = | 550 | S |4C | = | 130
7 WH | E |[2NT| 2 | 200| N | 35| -2 | -200
8 Wk | N |[2D| -2 |-200| S | 4H | = | 420 11
DATUM# it iR
IPNEE Ik 2 & [22.00/29.00
B/ -3.0| FER/MIUMIE 5.0 &it |22.00(29.00
5K BH/ARGEE  -5.0| BHER/TELR 3.0 V.P. 7.23 |12.77
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ROUND: 3 TABLE: 22 DATE: 12-27-2014
A3tmiEPA VS 448 K—PA
H = Al =
7 RESIN EX—PBA EX—PBA T RESIN
3t XUFES R Rt it FERE R B
= o] 7Y . EEB S - fbRi2 7Y : XIEi#E
AR | BR | ER| w0 | 28 mie | Bx | w2 | 2R | ms| D | =R
1 | WE| N | 3H| = | 140 | S |4SX| -2 | -300| 10
2 gt | E |2C| 2 | 100 | E | 2C | = -90 5
3 | &/ | E | 25| = |-120| W |5H| = |-650]| 11
4 |W8| E | 25| +3|-200| W |[3NT| = | -600]| 9
5 Bgdt | W |3NT| = | -400| E |3NT| +1 | -430
6 | ZHFH| S |4Cc | +2 | 170 | S |5CX| = | 550 9
7 W& | E |3D| = |-110| W | 4D | = | -130 1
8 WAk | S [BNT| +1 | 430 | N | 2H | +1 | 140 7
DATUM&tit e
RESUN BAX—PA A1 |44.00( 9.00
XIS/ 27.0| RFER/MAREE  -10 &it |44.00| 9.00
BXH/XER 10.0] NENV/EEH -27 V.P 19.11| 0.89




201448548

ROUND: 3 TABLE: 23 DATE: 12-27-2014
ASHYIERE VS A6EFiSH el
H = H =
RYIEE ERigtHel ERigtHel RYIEE
it - BuRX R . 22H it : B2 R EAE=
o XIS 78 : BAYEHE g XIS 78 : 3R
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 Wk | w |5DX| = | -550| W | 3D | +2 | -150 9
2 Blt | N [ 3s | +1 | 170 | S | 25| -1 | -100 7
3 | &K\ | W |4H | +2 |-680| E | 6H | -1 | 100 13
4 WHE | W |[3NT| = | -600 | W |3NT| = | -600
5 Bgdt | E |3NT| = | -400| E |3NT| = | -400
6 |Z&m| S |5C| = |400| S | 4C | +1 | 150 6
7 W& | N | 28| = | 110 | N [4HX]| -2 | -500 | 12
8 | WE| N |[2NT| +1 | 150 | S | 4S | -1 | -50 5
DATUM# it iR
N E 57 sianel A |30.00(22.00
HRR/ XS -5.0| ZE/XIE -11 &it [30.00|22.00
BAEZ/FNER  11.0] RHE/MBNKE 5.0 V.P. [13.12] 6.88




20148¥

ROUND: 3 TABLE: 24 DATE: 12-27-2014
ATIEBIR VS A8[ <&
H = H =
TR IHEE IHEE TR
it : 1B ;R EBN it : T\ IR ER
m : BREE 78 BAKE m BB 78 g
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 | WE | N |[BHX| 2 | -300| E | 5C| = |-400]| 3
2 it | E | 2C | 1 50 E | 2H| = | -110 4
3 | &AM | E |4H| +1 | 650 | N |5CX| -3 | -500 4
4 WH | W [3NT| -1 | 100 | W [3NT| = | -600 | 12
5 Bdt | E |3NT| = | -400| E |3NT| = | -400
6 | KM | S |5C| +1 | 420 | S |5C| = | 400
7 W& | E |5DX| -2 | 500 | N | 25 | +1 | 140 8
8 Wxk| S |4S| 1| 50| N | 2C | -1 | -50
DATUM&iit e
REBRR JMRE #1 [28.00] 4.00
BxRI/TRAE 160 =HE/EJ®E -10 &it  |28.00( 4.00
wiER/MBiE 100 EEN/BARE -16| VP, |17.31] 2.69




